1. The string that measures the path from the doll house to the park is longer than the path between the
park and the store. Circle the shorter path,

the doll house to the park

The Doll
House:

o

The Store

The Park

If the string is longer, then
the path is also longer!
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2. Whichis the shortest rectangle? _ Rertangie B

3. If Rectangle Ais longer than Rectangle C, the longest rectangle is _Rectangie A

4. Order the rectangles from shortest to lengest:

8 C &

| cah see that Rectangle B is the shostest,
and it says that Rectangle A is longer than
Rectangle C, sothe order must be B, C, A!
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Use the picture to answer the questions about the students’ paths to school.

Caitlyn’s Path

School
Toby’s Path
Joe’s Path
5. How long.is Caitlyn’s path to school? 18 blocks ' \
Caitlyn’s path is 10 blocks, so loe’s
6. How long is Toby’s path to school? 12 blocks path hasto be 9 blocks or less. |
just made a straight line for Joe’s
path, and that makes it 8 blocks!

7. Joe's path is shorter than Caitlyn’s. Draw Joe's path.

Circle the correct word to make the statement true,

longer/s

9.  Who took the shortest path to school? ___foe

Joe’s path is the shortest. | is just:8
horter than joe’s path. blocks straightto schoo!l with no

' turns. Toby’s path is 12 blocks. 12
blocks is a longer walk than 8 blocks.,

B. Toby's pathis

10. Order the paths from shortest to longest.

foeg Laitlyn Toby
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